
6.RP Many Ways to Say It

Task

Paint

Abigail mixed 2 cups of white paint with 6 tablespoons of blue paint. Which of the
following statements describes this situation?

a. There is 1 cup of white paint for every 3 tablespoons of blue paint.

b. The ratio of the number of cups of white paint to the number of tablespoons of blue
paint is 1:3.

c. There are 3 tablespoons of blue paint per cup of white paint.

d. For each tablespoon of blue paint there are 3 cups of white paint.

Paste

Clara mixed 8 cups of flour with 2 pints of water to make papier-mâché paste. Describe
the relationship between flour and water in the paste in at least four different ways.
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